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Q) Consider the following statements : (PYQ)

1. The set of all irrational numbers

between ~/2 and +/5 is an infinite
set.

v

2. The set of all odd integers less A
than 100 is a finite set. -5 -3 - 13,5, ... 79
o - Y, Y, / 4 /

Which of the statements given above | — —

- " o 0,
is/are correct > V,Q'nffc fefs
(a) 1only v

(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2
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Q) Consider the following statements :

1. The set of all irrational numbers

between ~/2 and +/5 is an infinite
set.

2. The set of all odd integers less
than 100 is a finite set.

Which of the statements given above
is/are correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

Ans: (a)
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Q) What is the range of the function f(x)= m X #07
X

(a) Setofall realnumbers (b) Setofall integers
) L1} (d {-10,1}
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Q) What is the range of the function f(x)= m X #07
X

(a) Setofall realnumbers (b) Setofall integers
) L1} (d {-10,1}

Ans: (c)
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(@]

Q)Let A = {x € W, the set of whole numbers and x < 3},
B = {x € N, the set of natural numbers and 2 < x <4} and

C = {3, 4}, then how many elements will (AUB)xC
contain?

@ 6 b) 8 n(exe) = n(e) in(r)
(¢ 10 d) 12

4 = )
{D / 2} (408) - {Olllegf > n(AuB):&

- {4,
- (ho8) ac) = n(hve] 5 2(9
c-{s,ef 7 n(d =2 Y( ) = 433 ={t)
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Q)Let A = {x € W, the set of whole numbers and x < 3},
B = {x € N, the set of natural numbers and 2 < x <4} and

C = {3, 4}, then how many elements will (AUB)xC
contain?

(@ 6 (b) 8
(¢ 10 d) 12

Ans: (b)



NDA 12025 - REVISION - LIVE CLASS - MATHS - PART 1

Q) The relation R in the set Z of integers given by R = {(a, b):
a — b is divisible by 5}1s
(@) reflexive
(b) reflexive but not symmetric
(¢) symmetric and transitive
\(}1) an equivalence relation

(-b=5m o 77 (p-1 = )
5;5?/

=7 fﬁmmcfwoc * tongfdey a b Io/
@/kefhﬁ;h . d-q = b'f—- 5'f =D Q-6 = 6’/:- 6‘1 - 5(/),;)
A 0 I¢ divicrble bdr 5, b-a =59 - gf, - 5( H)

—

> K b-a 1S alko diviei Aﬁ 5,
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@ Transiti've

0 - b
b~ ¢

4 - -:.9;9-6“—5(/”)

L,, divi¢( bfe lﬁ 5,
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Q) The relation R in the set Z of integers given by R = {(a, b):
a — b is divisible by 5}1s
(@) reflexive
(b) reflexive but not symmetric
(¢) symmetric and transitive
(d) anequivalence relation

Ans: (d)
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Q)If A is a subset of B, then which one of the following is

correct ?
(@) A°c B (b) B¢ c A€
() 4¢—pe¢ d Ac ANB
U
LJ’/% A& B
] W EENEC .
A / Ac 2 B
7717 Sl

y
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Q)If A is a subset of B, then which one of the following is

correct ?
(a) A° c B¢ (b) B¢ c A°
() 4c=-5g° (d Ac ANB

Ans: (b)
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(@]

2

1+x2°

Q) What is the range of the function ¥ = where X € R?

@ [0,1) () [0,1] © 1 (@ (1]
of of

0,: | fm/?cr fmohob‘l))

I+ 1%

fi ! of/fyve Yahemef
g At K a/wods /éoszﬁve, So (7 olll alweys be o f

nuUmber .

1t < 142t
1
m 1 < |

[+2*
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2

-

f+4f
ge - d) ("”‘f"’"’ s 1= )

2 S 1zt |4 }Domam) Ropge ©
/—q_a 7 J;U dlver?ffun{flm fUQ
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L = i/_l_?
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2

Q) What is the range of the function ¥y = [+x

@ [0,1) () [0,1] © O

Ans: (a)

2

where X € R?

d) ©1]
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Q)Let R be the set of real numbers.
Statement-1: 4 = {(x, y)e R X R : y—Xx 1s an integer} 1s an
equivalencerelation on R.

Statement-2: B= {(x, y)€ R x R :x=ay for somerational
number o} 1s an equivalence relation on R.

(@) Statement-1 1s true, Statement-2 1s true; Statement-2 1s
not a correct explanation for Statement-1.

(b) Statement-1 is true, Statement-2 1s false.
(¢) Statement-1 1s false, Statement-2 1s true.

(d) Statement-1 1s true, Statement-2 1s true; Statement-2 1s
a correct explanation for Statement-1.

@i=]
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Q)Let R be the set of real numbers.
Statement-1: 4 = {(x, y)e R X R : y—Xx 1s an integer} 1s an
equivalencerelation on R.

Statement-2: B= {(x, y)€ R x R :x=ay for somerational
number o} 1s an equivalence relation on R.

(@) Statement-1 1s true, Statement-2 1s true; Statement-2 1s
not a correct explanation for Statement-1.

(b) Statement-1 is true, Statement-2 1s false.
(¢) Statement-1 1s false, Statement-2 1s true.

(d) Statement-1 1s true, Statement-2 1s true; Statement-2 1s
a correct explanation for Statement-1.

Ans: (b)

@i=]
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(@]

Q)Let A and B two sets containing 2 elements and 4 elements
respectively. The number of subsets of A x B having 3 or
more elements 1s

@ 25  (b) 220 (© 219 d) 211
n(Ax8) = n(A) x n(s) = 4%4 =8

o D _ Hf .
Tofal namber g’(' fub et fogg/é[a = o = 4 = f_?_f_é_

Tofa| subsefs —

Subsefs havin 4 Subs - how- + Sub- hav.
0 eeroent | elem et ! é/emw/f)

56 — (} + gC, a ‘LC,_) = 0?36-(/4'97‘ .Qf_) = 456 — J¥

(8) JRAr)
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Q)Let A and B two sets containing 2 elements and 4 elements
respectively. The number of subsets of A x B having 3 or
more elements 18

@ 256  (b) 220 (© 219 (d) 211

Ans: (c)
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Q)If f(x) + Zf[l} =3x,x# 0and
X

S={x e R: f{x)=f(x)}; thenS: @ — @
(a) contains exactly two elements.
(b) contains more than two elements. f( ,é ) ,;[ X

(c) 1sanempty set.
(d) contains exactly one element.

fl) s af(4) = =0 ——
1) e (4) g 73 - 4 =€

0 +® v L)+ )= 3(f) @
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From @ and @,
3%(-&) +3f(x) = 3(“_2{:):7 1((,%)+f(,); z+_£ — ()
-1 -2 —g

<~ — 0
@"'@/

= - (3 -2 - %1+ L =-tl
o?/(x) - “;’ (3’( ’i') . x-r,% 11 d ¢
AN

) - L 3 - 112
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f(x):—. -1 4

2

7z
~1) - - 4
{(-1) = 1 L

f(x) o 7([" 7‘)

-1+ - 2
y 5

Z -
X

=4 35 124 3
yé (5
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Q)If f(x) + Zf[l} =3x,x# 0and
X

S={X e R: {(x)=1(—=x)}; then S:

(a) contains exactly two elements.
(b) contains more than two elements.
(c) 1sanempty set.

(d) contains exactly one element.

Ans: (a)
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Q)If A, B and C are three sets such that AnB=A~C and

AUB=A4AuC,then
@ A4A=C (b) B=C
¢y AnB=¢ (d) A=B

ANB=Anc
_:_,j R O
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Q)If A, B and C are three sets such that AnB=A~C and

AUB=A4AuC,then
@ 4=C (b) B=C
() AnB =9 (d A=HB

Ans: (b)



NDA 12025 - REVISION - LIVE CLASS - MATHS - PART 1

v/ v v Vv
Q)Let R = {(3, 3), (6, 6), (9, 9), (12, 12), (L12), (3, 9),

(3, 12), (3, 6)} bearelation on the set
A=1{3,6,9, 12}. Therelation 1s

(@) retlexive and transitive only

(b) reflexiveonly

(¢) anequivalence relation

(d) reflexive and symmetric only

R c AXA

Teffavac — (3,3), (6,6)/ (414), (/2/”-) -

sdrnmdﬁ’c — X (6r1) €r sut (12,0) fR
frangifive —

V4
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Q)Let R = {(3, 3), (6, 6), (9, 9), (12, 12), (6, 12), (3, 9),
(3, 12), (3, 6)} bearelation on the set
A=1{3,6,9, 12}. Therelation 1s
(@) retlexive and transitive only
(b) reflexiveonly
(¢) anequivalence relation

(d) reflexive and symmetric only

Ans: (a)
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Q)If X and Y are two sets, then X m (X' WY) equals.

@ X b) Y
c) ¢ (d) None of these.
Xn(x¢nye) (h08)* = A" n &

N (Ang)t= A UE
(x01¢)  (xaye)

y N (XO)’C) (4n40) }j

\
S
=
-
>
=N
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Q)If X and Y are two sets, then X m (X' WY) equals.

@ X b) Y
c) ¢ (d) None of these.

Ans: (c)
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Q)Let f(x):x2 +2x -5

and g(x)=5x+ 30

What are the roots of the equation
g|(f(x)] =02

(@)1, —1 (b) -1, —1

(c)1,1 (d) 0, 1
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Q)Let f(x):x2 +2x -5

and g(x)=5x+ 30
What are the roots of the equation

g[(f(x)]=0?
(a1, —1 (b) -1, — 1
©)1 1 (d) 0, 1

Ans: (b)

EEEEE
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Q) If a set X contains n (n > 5) elements, then what is the
number of subsets of X containing less than 5 elements ?

@ Cn4) b C@m5)
5 4

© Y Cm @ Y Cmr
r=0 r=0
0 I3 y

-""-—_.?\00
"-.._J

) )

) )
pﬁ)_ Co L L) th

A

4 L
(R L A A

I1£ C('n,Y)

r=0
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Q) If a set X contains n (n > 5) elements, then what is the
number of subsets of X containing less than 5 elements ?

@ Cn,4) (b) C@,5)
©) ZC(n, r) (d) ZC(n,r)
r=0 r=0

Ans: (d)



NDA 12025 - REVISION - LIVE CLASS - MATHS - PART 1

QIf f(x)= Y52

, defines a function on R, then what is its

x—4
domain ?
(@) (= o0, 4) U (4, ) (b) [4, o)
(€) (1, 4) L (4, =) (d) [1, 423 (4,i°)
lr - —7
- &~ ' ¢ +00
1 -4 l’co 7 1t4 s ,
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&

QI F(x) =

EEEEE

, defines a function on R, then what is its

x—4
domain ?
(@) (= o0, 4) U (4, o) (D) [4, o)
(€) (1, 4) L (4, «) (d) [1, 4) U (4, )

Ans: (d)
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Q)For f to be a function, what is the domain of f, if

2 (py
Je)= x| =x ?)
@0  (B)0=) () (d)( o0
d o
7o 740 L - L (vt defined)
\/ 0 0 )
-
1<0
9= L— - . J—-(O(Cfl'ncd)

- (-4) VY4 Vs

(-”,0)3
—

D 15 nof
Ianc/ud»{,/
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Q)For f to be a function, what is the domain of f, if

1
(x)= ?
A P

(@) (= e, 0) () (0, o) (€) (= o0, 0)  (d) (= e, 0)
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Q) In an examination out of 100 students, 75 passed in English
60 passed 1n Mathematics and 45 passed in both English
and Mathematics. What 1s the number of students passed
in exactly one of the two subjects?

@ 45 (b) &0
(9 75 (&) 2 (35-45) + (v - y5)

30 + 15

| G
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Q) In an examination out of 100 students, 75 passed in English
60 passed 1n Mathematics and 45 passed in both English
and Mathematics. What 1s the number of students passed
in exactly one of the two subjects?

@@ 45 (b) &
(c) 75 (d)y 90

Ans: (a)
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(@]

Q)LetR={x|x € N, xisamultipleof 3 andx < 100}
S={x|x € N,x1samultipleof5 and x <100}
What 1s the number of elements mn (R X.S) ~ (S X R)?
L

36 v 33 \’ ¢
52 0 E(EB : number Of ehemenfs 1S

a/WOdi‘ a /écrfecf /JZum,
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Q)LetR={x|x € N, xisamultipleof 3 andx < 100}
S={x|x € N,x1samultipleof5 and x <100}
What 1s the number of elements i (R X.S) ~ (S X R)?

(@) 36 (b) 33
(¢c) 20 (d) 6

Ans: (a)
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If Aand B are two non-empty sets having
10 elements in common, then how

many elements do Ax Band Bx A have
in common?

(@ 10
(b] 20
) 40

\@ 100
\—9 lmfd f)erfecf’ JZam m The ?’flefi;
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If Aand B are two non-empty sets having
10 elements in common, then how
many elements do Ax Band Bx A have
in common?

fal 10
(b) 20
c) 40
{d} 100

Ans: (d)
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